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Î 33621 1 60/1 UfhUnLluqnnUuppnr 50dq/dt 250rii nLupEp ql 1200.0 360.0 300

z 33691 138/1 qgnrtlnqLu 5% 500,0 rltrupbp q3 280.0 280.0 1 000

3 33691 138/2

qgnrllnqu 5%250.O
rhruBbB q3 280.0 420.0

1 500

4 33691 138/3 qlnuQnqulfr lnrbnqp 10% 500,0 LhLupbp ql 700.0 56.0 80

33691 138/4 qgnrLlnqf h QLufinLdlr ptnnhrl|l /p rfrruBbB ql 800.0 12.O 16

o 33691 8 1 4/1 I h+nopuh tph 1 oultu 60 dq/d1 500tI1'l luqdn-Sbp rhuBbB q3 4000.0 240.0 OU

7 3369181412 t fr4popufr bpfr L outtu 1 O0dq/dt 500,'l lLuqLIn-S bp Lhrupbp qt 5000.0 50.0 10

8 33651 1 39/1 rlopufr$loputughU (rJopuhSlopuu.rgfrtrfr hh4pnplnphrl) Lhrupbp q3 1700.0 1360.0 800

JJOOT tZZI I lLuptugbunLutlnl 1 % 1 00rI1 rfrrupbp q3 2500.0 200.0 80

10 33691112t1 UbnpnL[4LuqnL StIq/dL, 100LIt rfrtupbp qt ?trn n 350.0 1 000

11 33691129t1

L uu Ln p I n rLlfr p 1n p I r1, Q ru fi n rdfl p 1n 
p [ 4, ! nr g I n rdfr

ptnnf'q /n[Lqbp/ 250rI1

rhLupbp q3
250.0 750.0

3000

tz 33691129t2

L ur Ln p I n rdfr p 1n p [ 4, L1 Lu fi n idfr p 1n p [ 4, Q Lr g I n rdft
ptnnhq /nfLqbp/ 500uI1

tfrrupbp qi
250.0 625.0

2500

33691 1 35/1
Ltunp[nrdf pfrlluppnLum Satfq/Lf1 20d1

,DtuUntr qf 1100.0 330.0
300

14 33691 1 36/2 Lumnhnidh ptnnhrl 0,9 %1000rI1 r.nLupEB ql 300.0 540 0 1 800

15 33691 1 36/3 LLunpInrdfr ptnn|t4 9dq/d1 500rI1 llhurpbp ql 250.0 2000.0 8000

16 33691 1 36/4 l,umpflnrdfr ptnnfi4 0.9% 250tJ1 rlrLupbp qt 250.0 5000.0 20000

1att 33691 136/5
ULunnnnLun ptnnn4 u.v7o I uuul

rfrurBbB ql 250.0 1250.0 5000

18 33691 1 36/6
tJurmnfinLUn ptnnn4 0.9% 3000rlt

rlturBbB qt 1500.0 1050.0 700

19 JJOY I IJO// LumnhnrUh ptnnhq 1 00dq/d1 Ou.rBbB q3 600.0 60.0 100

20 33691227t1

LumpInrdfl ptnnhq, Qtufi nrdfr ptnnf'q,
dLuqlbqlrnrJ,ptnnhq, Lumnhnrdh u.rgbunurm,

Lump[nrdfr qgnrllnlLun 5001I/t bdnun/ rfrrupbp q3
800.0 240.0

?na

21 33651 1 34/1 3[qpn$loputugfrtr 2dqld1 200rJ1 rlrLuBbB q3 550.0 1 100.0 200c

zz 33621610t1 rJLutrf unl t|rruBbB ql 800.0 2.4

ZJ 33661 1 70i 1 qpnQulfrL( qpn!uulfrtrfr h[4pnp1np[4) 0, 5% 250tI1 $urpuB ql 600.0 120.0 200

24 33691176t15 L uurp I n ldir r.u g bur u un (U Lu ur p I n uLlfr Lu g bLn Lu Ln I Ln p I h Ll^rurpbp ql 600.0 9.0 1E

zc 33691 1 34/1 !Lufinrulfr ptnnhrl 4% 200t11 rfrr-upbp ql 450.0 4.5 1C

zo 33691 133/1 LbprupLlLILuL 2nrp 3000rI1 tlrr-upbp qt 1500.c 1050.0 700


